= A
N = 0] &F AF S & AN A
2018 &= =20l & L BHGH &-F It
SN B
Mz @Ol
Ce: MEHI2Xel (2 &HH)
. _ = SfE|
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
A 13,436,046 12,320, 198 1,115,848
= 735,347
Xl 50,000
Jl 50,000
= 319,953
Al 12,280,746
HoI22el 7,120,506 6,577,734 542,772
= 409,200
< 29,000
Al 6,682,306
METH IS X 2l 6,279,492 5,680,320 599,172
= 90,000
= 29,000
Al 6,160,492
MY H2d 220,988 229,892 A 8,904
101 e1214| 22,203 18,197 4,006
04 JI2tHIZ22NEES 22,203 18,197 4,006
OMYII=SE THIA 22,203
oJdle2 60,2403 x 1Y »222 x 128 15,904
o =% Y 4HEE =S S 6,298,610& 6,299
201 gEt24y| 179,635 179,695 A B0
01 AF 2t 2| H| 29,931 29,291 640
OLet4=24| 19,963
o HLXH MYIl E2010] 25 =&
2,013,000 2,013
oMEESAN Y S BAL2E
35,000& «10CH x23] 700
o MYIJIEYED| oLy Er X &
200,000 *30H 6,000
0o BAESEE M UL A2 HEH
1,300,000 1,300
o MYJIEEED Heg=sE 8 &
60,000 «300H4 1,800
o MYJIEEED &= AEIH ME
1,000 *1,0000H 1,000
o JIH A , AAMY D S2tE s22 HE
2,050,000& 2,050
o MY JIAHESE L SAZEFRHIIZE E2E
= mHOHA EXTE RN 10,000 *500H A&~ 500
0 SAZE HIIZ2 YMAN = 4,600
-S40 60,000 4004 2,400
-otE 200 x25 %2, 500& 1,000
-8y 3,000& x 1= %2002 600
- AEHA 100& *3= +2,000& 600
O+ 640




SH 230
M HOI2He
Cel: MEHIsHel (cho &)

SA - BB B () - MM - BES Ol &t o San HmEET
0o SASF HII=2 dtHI} ?ds ¢
8 «1Al2t%80,000& 640
O= &l 9,328
o =EHEE=2Ss =X 1,000, 000& 1,000
o MYJIZSEHM gRF2 1,000, 000& 1,000
0 HAN A MEYIIF0I| 2 £
200,000& 200
o HHEMNALE HEFX 1,000,000 1,000
o BHENISE AJILA(H,F4)
4,000,000 4,000
0 SNZ2E HIS+H A2
1,568,000 1,568
0 BAESF HIIS OF2AHE FRFA
560,000& 560
02 =24l 149,704 149,704 0
OS2 HA 11,600, 000& 11,600
OAEZEHl S Xl 2,160,000 2,160
O Xt & B 135,944,000& 135,944
202 o4dl 4,250 4,250 0
01 = LH 4 Hi 4,250 4,250 0
OXYIIEEM 2RFH 4,250,000 4,250
206 = Hl 14,900 27,750 212,850
01 MHZ 4l 14,900 27,750 A 12,850
OSAER HII=S EJSENH 14,900
o HES FY(LREZ X0t )
2,000,000& 2,000
o ERESHE(EHUE) 4,500
- 52l 8 403 +50,000H 2,000
- 12021 & 50& *50, 0004 2,500
o dE=HEI A=H #& 300,000& 122 3,600
o dE=HEJ EHM 7 400,000&~12& 4,800
UYEH M FI(EX) 12,000 12,000 0
< 3,000
Al 9,000
201 LBH2E| 12,000 12,000 0
< 3,000
Al 9,000
01 At 2t 2l 12,000 12,000 0
OBt =8l 12,000
o M JIBEM MAX S MI| =H
10,000, 000& 10,000
< 2,000
Al 8,000




2N
X ZH -
L= B

el

HH .ol (3AH) - NSAY - By Ol &t o4 San Hl B E2
0 Z0H WBANDE SEN 1Y
2,000,000 2,000
< 1,000
Al 1,000
didl=AXel At 1,626,542 1,022,376 604, 166
ol A Hl 199,862 178,592 21,270
SIHHAAZZ2XNE S 152,970 136, 366 16,604
o=y 80,800
0 SASR HIIE 4N gas 7Y
50,000& x 10 *23| 1,000
o &Z0Istd HH= 150,000& »70H »23| 21,000
o Z0Istd HH 3 60,000& 70 *23| 8,400
o EA0I3A OF2+2D) 40,0003 70 #23| 5,600
o EZ0IstA Y= 400,000& x70E 13| 28,000
o &Z0Ist&d <29 50,000& x70H 3,500
o Z0Istd ESE 50,000& x70H 3,500
o 2A0IsA M= 140,000& 70X 9,800
O=&l 25,480
o 2A0IstA E2X =& 25,480,000 25,480
O==t| 42,000
o &&0Istd =S=H|
5,000& =100 70 «12& 42,000
[ DESESN 4,690
o BZ0IstE HEEHZH (IIAS)
50,000& x70H 3,500
o B#E0IsE HEEZH (RHLEEZ)
8,500& 709 *2Xt 1,190
4 D12t ZE2XREES 46,892 42,226 4,666
O3 Z2AMMET 2ARA 26,892
oJdlEaz 60,2403 x 1H*22U 123 15,904
o=x¢g ¥ g2z 10,987, 740& 10,988
O=H & & 28 AR 20,000
o ESQI8 Q2] 80,0003 x25H 10! 20,000
201 Let2d] 297,000 298,200 A 1,200
01 At 22l 10,220 10,220 0
OB =+=EH| 4,220
o BAWH FRFZ 2,000,000& 2,000
o BAXE dAIZ & dAte===2
35,000 x16CH 23] 1,120
o mEHEZEE2S s ¥4 28 Y
60,0003 x2E *53] 600
o A& BHIts M)l 22liiE FUEE
1,000& *5000H 500
O=El 5,100




SN B
M HOls&e
el MEHIIZ 2 (ol @)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
o A P& 3,000,000& 3,000
o AXHIES =HHel gRF&A
1,400, 000& 1,400
o MYIJIEBEED o2t HRFA
700,0002 700
oL 900
0 WXEIIE £AHTY YXEB
300,000 x1CH *33] 900
02 3524l 282,780 282,780 0
OZ2Z222L A 36,000,000& 36,000
[ pReai=a]l 6,000,000& 6,000
OAl& &Y KX Y| 10,780,000 10,780
[ DPNE=FaR=las] 230,000, 000& 230,000
03 A2 EH| 4,000 5,200 A 1,200
OH0ITd SEUHS 2,000,000& 13| 2,000
OZ0I33 M= 2,000,000& *13| 2,000
202 04| 4,750 4,750 0
01 2L Y| 4,750 4,750 0
OMEMYIIXHE HRFX 4,750,000& 4,750
206 M = Hl 135,530 87,434 48,096
01 & bl 135,530 87,434 48,096
OMYIIRHEE M (HMS+2H42Z) 92,100
o 52l 263 *50, 00004 1,300
o 102I & 38& x50, 0000H 1,900
o0 202l & 63& *400, 0000H 25,200
o0 202l (HAtEBEE) 70«50, 0000H 3,500
o 502! & 138& *x400, 000 0H 55,200
o XX MAOIH HH 10& *500, 0000H 5,000
O 2MH D0 ME(EHE) 8,100
o0 202 & 3502 10, 000 0H 3,500
o 502! & 460& *10,0000H 4,600
OMYIIRHEEE M (B2E) 14,650
o0 202l & 63«50, 0000H 3,150
o 502! Ef 138& *50, 0000H 6,900
o O & &502 & 460& 10, 0000H 4,600
OZ0|13d L T2 AN 823 20,680
o0 EctAE A 6,000 70 *2 840
o &g 600 *70H 202 il x12& 10,080
o REYUXHE B (EE)
180,000& x12& 2,160
o RUEUXHE BH(EL)
250,000& x12& 3,000
o H=2Y £=HOI M2 460& =10,0000H 4,600
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2M: 83
M HOI=22e
Cel: MEHIsHel (&)
SA - BB B () - MM - BES Ol &t o San HmEET
301 gt L= 2,400 2,400 0
1MIIEBESS 2,400 2,400 0
OEYSE) MO 243 10,0002 304 300
OMg D2t MRS 30,000& 20 600
OXYII=£01D] R+ SSFH ZHS
300,000 =54 A 1,500
307 21201 A 520,000 60,000 460,000
05 BIZERIE 3 520,000 60,000 460,000
OZI Mg IIMeld Y=t HIIE XMl
100,000& 400 40,000
OsHE, 28 gxIMeI Hel
100,000& 400 40,000
OMES X =MD Hel
100,000 400 40,000
020174 ODI™Melz 2,600 ItHi=2 el
400,000,000 400,000
405 XtatE SHI 467,000 391,000 76,000
01 XML = ZFH SH| 467,000 391,000 76,000
oIl 2els=Ag 2L 300,000& 504 15,000
OHATY RY(UHA) 452,000
o5& MdJl+=HXE 99,000,000 »2CH 198,000
0 3.58 MIl+=HXE 72,000,000 = 1CH 72,000
0 b= SASFHIE 99,000,000 = 1CH 99,000
0 3.58 SIEEY 53,000,000 = 1CH 53,000
o AE(CIB)EH 10,000, 000& »3CH 30,000
Has AY 537,990 690, 740 A 152,750
201 2et24d] 79,990 60,840 19,150
01 At 22l 16,750 12,600 4,150
OB =+=EH| 15,910
o WEBHETSY ASBIABE 7Y
1,050, 000& 1,050
O HESHEE FUBY £42
200,000& »12& 2,400
o MESHEHE M)t =
420,000& 123 5,040
OMEBHEE NABY 5T 248
450,000 *23| 900
O HERHEE +HAL FIIGTAAN 24
= 1,000, 000& *23| 2,000
o HZU HIIZM =8 570,000& *13] 570
o SAESFAHINES NskHEAF==Z
35,000 = 10CH 350
o SASMYI HESE X HEE A0t
tHALE E2d R = 200& =8, 00004 1,600
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SN B
Mz @Ol
el MEHIISHR (298 R)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
o AASEJIXNSE FDE XMZA 200,000 x104 2,000
O+ 840
o ERMEE EoAM =& 6Y*x23/%70,000& 840
02 232 H4| 63,240 48,240 15,000
OZ2Z2222AH A 35,000,000 35,000
O =24l 1,300 x4002| Ef x12& 6,240
OAlE & HI KX Y| 15,000,000& 15,000
OXHed| 7,000,000& 7,000
206 M = H| 28,200 21,100 7,100
01 X2 Hl 28,200 21,100 7,100
ONEsdgd 29 M2 Q! 15,600
OMEESHEY FHSHZ ASUE
3,000,000 3,000
o REEE EW 2,200,000& 2,200
o HEBEEZ =4 2,200,000& 2,200
o DY & 1,200,000 1,200
o OtA3 1,000,000 1,000
o Mgas4dgelo RES)| EHE
2,000,000 =14 2,000
o AAJ|H &L ANEEH S4=
50,000& x40= 2,000
o AAJ|H & A&EZEH FelA
50,000& *x10= 500
o D 2 WE 500,000& 500
0 JAHAREE ¥ A S F¢ 1,000, 000& 1,000
ONMEEHEE AJEZH SEOIN 2L
300, 000& x4 =13l 1,200
OAIEZH HAY 2L 300, 000& =24 600
OAIIE2H & el 200,000 =44 800
Oos4Hg &X 500,000 x20H 10,000
301 AP B A 500 500 0
11 J|EtE A= 500 500 0
OIS EEANE RAALD ZTAZ 25 000& %2021 500
307 2iz2to| A 21,000 10,000 11,000
05 QIZ2tR EF 2 21,000 10,000 11,000
o8 HolE2 /X
210,000 x100&= 21,000
401 AIEHIZL 201 Y| 405,000 595,000 A 190,000
01 Al&H| 405,000 595,000 A 190,000
OLIMI 2 Wi 30,000,000 x 1Al 30,000
OMI 2= LA 20,000,000& = 14! 20,000
onMgasdgEs I Hoet oA
5,000,000 =24 10,000
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2M: 83
M Hols2el
Cel: MEHIsHel (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OLEIZE ZEIANE WA
150,000, 000& * 14! 150,000
OAJE2H WA 70,000,000& =14l 70,000
OXgd B2AM4 &EX 100,000, 000& * 14 100,000
ONESHEY M8t 2=
20,000,000& =14 20,000
OMESLEZ WA A E=
5,000,000& x 14! 5,000
405 XHobF S HI 3,300 3,300 0
01 AL ESFH S 3,300 3,300 0
OMEELES OlsA 228
1,650, 000& »2CH 3,300
SE HHlY =HBAZ(EX) 150,000 151,300 A 1,300
= 15,000
< 15,000
Al 120,000
301 et A Z 150,000 151,300 A 1,300
= 15,000
< 15,000
Al 120,000
1MIIEESS 150,000 151,300 A 1,300
SEHHE = 243 150,000, 000& 150,000
= 15,000
< 15,000
Al 120,000
SHEGHA M IIESAIE (BEX) 107,000 114,000 AT7,000
= 75,000
< 11,000
Al 21,000
101 @124 dl 79,000 84,000 A5,000
= 55,300
< 7,900
Al 15,800
04 JI2ZtHZ2XREES 79,000 84,000 A5,000
Ot I== MelAte 79,000,000& 79,000
= 55,300
< 7,900
Al 15,800
201 2et24d] 20,500 25,000 A 4,500
= 14,400
< 2,200
Al 3,900
01 At 22l 20,500 25,000 A 4,500
Ost=2 2 01=H XAt 20,500,000& 20,500
= 14,400
= 2,200
Al 3,900




SH 230
M HOI2He
Cel: MEHIsHel (9 ® =)

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
202 Od4dl 2,500 0 2,500
2 1,800
< 400
Al 300
01 = LH 4 Hi 2,500 0 2,500
OS2 X I1=H XelAtg 2,500,000& 2,500
= 1,800
< 400
Al 300
206 = Hl 5,000 5,000 0
= 3,500
< 500
Al 1,000
01 M2 4l 5,000 5,000 0
OE2ESE P¥ 5,000,000 5,000
= 3,500
< 500
Al 1,000
SAEXE 29 2,332,672 1,681,112 651,560
201 Let24d] 350,010 286,690 63,320
01 At 22/l 67,610 16,690 50,920
O2et=ZH| 63,250
o HEFA ANRESFL 685,000& 685
0 SASHIANL PARUIBY +42
1,800,000 1,800
o SASHeIAE HIjetH el
4,100,000 4,100
o SASXHEANE A2 500,000& 500
0o SMEHUANE HFIAY 242
1,200,000% 1,200
0o SHSHAAANE FIAM £4E
2,500,000 2,500
o SA2 EHLEZ ¥ A5+ EIM ==
=3 600,000& x13] 600
o SASXHeANE HPEIEH =2
895,000& x13] 895
o SAZSHElIAIE HMIILH HIIBA =2
850,000& x13] 850
o SASXMLAE dFIESHE =2 (HH
oR) 50,119,300& x 13l 50,120
oIl =t 1,800
o SASHEIAIE 22X HP= E otdst
100,000 x9H 23] 1,800
O=&l 1,000
o SAE MEEZR A 1,000, 000& 1,000
[ D= 1,560




SH 230
M HOI2He
Cel: MEHIsHel (cho &)

SA - BB B () - MM - BES Ol &t o San HmEET
o SASHelAE H=D| e
130,000& =128 1,560
02 =224l 282,400 270,000 12,400
O=323<LHA 227,400
oaxTERS 1,500& *1,000E »63| 9,000
o MIIe3 1403 130, 000kwh* 128 218,400
OA =l 10,000, 000& 10,000
OAN&EHl S Xl 45,000,000& 45,000
206 M= Hl 94,256 88,016 6,240
01 =8l 94,256 88,016 6,240
OSAEM2ANE &Y A=54E 2
10,000& *202| H x30= 6,000
OS2 SNEAE 2235 22 22,240
o MIIXI 7L 100,000& »10Z *33| 3,000
o ¥& . E529 F¢
1,000 «10Z 2«20 * 103l 2,000
0o EZRLEE ¢ 10,000& *2001 x 103l 2,000
0 2R ESEE FY(1=2.8485,0tA3)
10,000 *5H « 10 x 103 5,000
o JIHESE 2% ¥ FH2lA 7Y
150, 000& »10E *23l 3,000
o AMEE Y (MESE S) 1,000,000& 1,000
o MgJI=S&E 100L 7+ 30,0000H 208 & 6,240
OSAEHANE RNAS =222 E s 72 66,016
o =Ilse 60,000 0.2 & *8Al 2t x244 Al 2t 23,424
o €5e 220,000 *0.2E *BAl 2t x 121 Al 24 42,592
207 A RO 157,206 157,206 0
03 Al & 12HI 157,206 157,206 0
OSAEXMCANE EFHM 2
50,0003 *50kg*6 & 15,000
OSASHelAE EFHLEH 4357
3,000,000& 3,000
OSAEXCANE E&E+Hel8 4357 139,206
o Zcli 39,348,000 39,348
o AZH(LSH) 49,858,000 49,858
o It AT 50,000,000& 50,000
307 21201 A 436,200 0 436,200
05 RIZt2IEt = 436,200 0 436,200
OSAER HII=s (L 3)
120,000& *30&E » 15 54,000
OSAER HII2 AH(FL,SH)
120,000& *30E * 17 61,200
OF2s B3 AAl RIS XAl
120,000& *30& 60 216,000
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2M: 83
M HOI=22e
Cel: MEHIsHel (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
OSAER HII2 =X H™eltl
110,000& »3E *2003! 66,000
OSAE &=+ 013 10,000& *50E 30 15,000
OE8&S A (MY FE B2t HII2)
300,000& *80& 24,000
401 Al BIZ 201 8] 1,085,000 659,000 426,000
01 A& HI 1,076,963 654,050 422,913
OF2s MHEBA 550,000,000 141 %99.37% 546,535
OEHlES A=A 100,000, 000& *99. 10% 99,100
L2 2ME E+3AM
100,000,000 *2JH 2 x99. 28% 198,560
O A% WHSAM
20,000,000 571 %99. 10% 99,100
OSAESSNIAE “FHIAEEE WM S A
7,000,000 «109H 2= *99. 10% 69,370
OSAEFNIEIANE EFESI WM SA
5,000,000& * 1001 2= x98.92% 49,460
EHIStAlE E=D] Ex3A
15,000, 000& *98.92% 14,838
03 AIE 2 0H bl 8,037 4,950 3,087
OF2s Ex3A 550,000,000& 14! +0.63% 3,465
OZLE) 3HE BE=ZA
200,000,000& *0.72% 1,440
OEldls HAE3A 100,000, 000& *0.90% 900
O-F A% WHSA
20,000,000& =51 x0.90% 900
OSAEZNASAE SHHAEE WS A
7,000,000 * 1091 2~ *0.90% 630
OSAESSFNIEIANE “FHESI WM SA
5,000,000 1091 2~ *1.08% 540
EHIStAlE E=D] Ex3A
15,000,000& *1.08% 162
405 XHoHF S HI 210,000 270,000 A 60,000
01 XL 2 ZFH S| 210,000 270,000 A 60,000
OFge=>D ¢ 80,000,000 »2CH 160,000
OS0AE 72 40,000,000& =14 40,000
O2HH 72 2,000,000& »5CH 10,000
& (ALE) 2 1,292,300 1,728,900 A 436,600
201 L2l 17,300 13,900 3,400
01 At 22l 10,800 8,900 1,900
O e==EH| 2,800
o 2R FUXNIAESAM £H3 MA
200,000& *43] 800
oANBEZ HEAME A2
100, 000& *2J4 2 x102] 2,000
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2M: 83
M Hols2el
Cel: MEHIsHel (&)
= d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
[ DN = 8,000
oANEBEE MEAME E&+=Hcl Xt
8,000,000& 8,000
02 2324l 6,500 5,000 1,500
OZ=22=2 A A 2,500,000& 2,500
OAEZHI S 4,000,000& 4,000
308 XXM SOIA 1,000,000 1,000,000 0
07 IXNSHHAURE = 1,000,000 1,000,000 0
OZSMYIIEE & 22T 2ERES
1,000,000, 000& 1,000,000
401 A& HIZ 201 8] 15,000 15,000 0
01 A& HI 15,000 15,000 0
OMNESZMNHEE &+ MEX & B2 i
A 5,000,000& 5,000
OSUMNESIUNEE =32 (U AH)
10,000, 000& * 14! 10,000
402 RIZER20| A 250,000 650,000 A 400,000
01 U2 EAILE X (KA ) 250,000 650,000 A 400,000
OZAMEY FH0IS NE('18EF FEZ) 250,000
o =80t 125,000, 000& 125,000
o CHotOtS 125,000, 000& 125,000
405 XHoHF S HI 10,000 0 10,000
01 et EZFH S 10,000 0 10,000
Ot =SHEHE JALH(BEEZS)UA
10,000, 000& 10,000
AN EH OIS 2l 841,014 897,414 A 56,400
= 319,200
Al 521,814
HOISAMSZE2e 193,228 83,228 110,000
201 Let24dH] 13,925 13,925 0
01 At 22l 10,325 10,325 0
o2t =2H| 5,525
o HIISAEHE 22| 2FH 382,000& 382
o HJI2 28X Z A 843,000& 843
o HIISHHES A 2HAA 40,000& *203] 800
o HIISALE NEEZE 2357
2,000,000& 2,000
o AFIZLIHE AMAEH ZZHA
1,500, 000& 1,500
o1 =l 800
o HIISX2IYHM &=55(4-56t2) 7
400,000& 400
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2AM: 283
J

X Hols2el
Selr ASEHOI=S 22 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o HIISXMcIZH &8 Mg 2
400,000& 400
oO=gt| 1,000
o HJI=2 Y FIIts PRFA
1,000, 000& 1,000
[ DR = 3,000
oHJI=S OHEy =¢e FH ¥X 3,000,000 3,000
02 2324l 3,600 3,600 0
OAEZEHI S Xl 3,600
o AFHIZULIHE AIAEH |X2el
300,000& 1200 & 3,600
202 O4dl 1,303 1,303 0
01 = LH 4 HI 1,303 1,303 0
OMSZHIIS2E HRFA 1,303,000& 1,303
206 M= Hl 3,000 3,000 0
01 M= 4l 3,000 3,000 0
OASEHIIES =Z2AM M8 2
5,000& 2004 1,000
OHDIZAYE AFmIYW 7
50,000& =404 2,000
307 glz2tol & 40,000 20,000 20,000
05 RIZHRI &3 40,000 20,000 20,000
OgX HIISHel (A4 & NFHIE )
500,000& *80& 40,000
405 XHoHF S HI 135,000 45,000 90,000
01 AL EZFH S 135,000 45,000 90,000
OXAZ %3H=F JJ| 7
45,000,000& +3CH 135,000
A& H I =2el 9,386 9,386 0
201 £B-2dH| 7,689 7,689 0
01 At 22l 5,675 5,675 0
oO2et=gH| 1,175
o Z2LHII=ESHaY St € NEEHEH HEF
& 1,175,000& 1,175
O= &l 1,500
0 AMHII2 BE 0I5} L SHYD 27
1,500,000 1,500
[ DN = 3,000
o A&HIIE SHME =HFHY Xt
3,000,000& 3,000
02 =224l 2,014 2,014 0
OC33SBLAA 2,014,000 2,014
202 (44l 1,697 1,697 0




2AM: 283
J

X Hols2el
Selr ASEHOI=S 22 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 = LH 4 bl 1,697 1,697 0
OH&HIIS2e g2F2 1,697,000 1,697
ZH0IE MK (EX) 638,400 804,800 A 166,400
= 319,200
Al 319,200
202 o4dl 2,000 0 2,000
= 1,000
Al 1,000
01 SLHOIYI 2,000 0 2,000
O S20IEM2 XA
2,000,000& 2,000
= 1,000
Al 1,000
401 AIEHI L 20 636,400 0 636,400
= 318,200
Al 318,200
01 A& HI 636,400 0 636,400
O S20IE™2 XNAALY
636,400,000& 636,400
= 318,200
Al 318,200
PN SRS 436,127 226,391 209,736
= 37,000
< 27,800
Al 371,327
SZEEAY 436,127 226,391 209,736
= 37,000
= 27,800
Al 371,327
NAASAS AL 56,569 52,445 4,124
101 @124 Hl 20,072 15,948 4,124
04 JIZHHZ2XRHEES 20,072 15,948 4,124
OEMEHXZ A 24 20,072
oJdlE=a 60,2403 x2H «150 18,072
o=% % 4HEBE= S 2,000,000& 2,000
201 et 8,497 8,497 0
01 At 221l 8,047 8,047 0
OB =+=EH| 2,547
o JI=BI3 HE 822 MH 547
-EES 5473 «1&+1,0000H 547
o =MHE PR FX 2,000
-=sA dE BHe s 1,000, 000& 22| 2,000
o1 =l 2,000
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202 044 2,000 2,000 0
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2M: 83
M 2X QASIBR
©e: SEQIYX ALY (&)
SA - BB B () - MM - BES Ol &t o San HmEET
01 = LH 4 bl 2,000 2,000 0
O EANE NEBH g2 =
2,000,000& 2,000
307 gl2tol & 3,777,636 3,721,829 55,807
05 RIZHRI & 3 3,777,636 3,721,829 55,807
O=2=XelAMd sz 761,230,000& 761,230
OJI=2=XHeAE A2 3,016,406,000& 3,016,406
401 Al HI X 2018 260,000 0 260,000
01 A& HI 258,128 0 258,128
OSgssHNSSH=HMeAANEUH=H
260,000,000& *99.28% 258,128
03 AIE2 2 THHI 1,872 0 1,872
OSgsZHNSSH=HMAANEUH=E
260,000,000& *0.72% 1,872
402 RI2EXt20| M 2,924 2,924 0
03 212t &AL S HI 2,924 2,924 0
OFodeltid s 1,720@ 17,000 «10% 2,924
HY2FZ Y (F ) 43,800 37,800 6,000
Jl2dd(e&Z ) 43,800 37,800 6,000
Jl2dyl (&) 43,800 37,800 6,000
202 O4dl 34,800 33,600 1,200
01 =LHA YI 34,800 33,600 1,200
OZE=Z 0l 100,000& »29H » 12& 34,800
203 YR =&t 9,000 4,200 4,800
04 FN2ELRZ=TH| 9,000 4,200 4,800
O3 750,000& x12& 9,000
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